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Question Number : 1 Question Id : 3354725431 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which one of the following state governments recently planted one crore saplings on World Environment Day

20177 | FEARET H & 5 T T 5T 51 A UF BeIS Uret o T Ui fgae 2017 U amT a17
Options:

1. ¥ Kerala | #%d

= ® Karnataka | ®e®

3. ® Punjab | ™=

4. % Madhya Pradesh | T 0

Question Number : 2 Question Id : 3354725432 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which cne of the following musicians does not belong to Madhya Pradesh? | 9 # & &9 § @GeR R 02 &

Options:

1. # Ustad Alauddin Khan | 3%d72 /@735 9 G4

2. % Krishnarao Shankar Pandit | ST & 012
% % Balkrishna Anand Rao | ST@@ET 4 719

4+ Pandit Shiv Kurmar Sharma | Wigd T8a Haw st

Question Number : 3 Question Id : 3354725433 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is Sanskrit University located in Madhya Pradesh? | 7eg USq # 96@d Paldeied @51 49 o7

Options:

1. ® Bhopal | AT
2 ® Indore [ 22T

= ¥ Ujjain | =+

4. % Jabalpur | S&EAYY

Question Number : 4 Question Id : 3354725434 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the norrmal range of blood pressure present in hurnan beings? | Ageat § SO W & @ St 727 27

Options:

1.9 120j80 mm | 12080 AT
o % 110j70mm | 11070 Taer
3. % 140/80 mm | 140/80 THHT
4 % 110/75mm | 110]75 AT

Question Number : 5 Question Id : 3354725435 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who started the Bhoodan Movernent? | & STg e Tee TR T 417

Options:
1. ® Jayaprakash MNarayan | =TOUEHTST TR0
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2. % Mahatma Gandhi [ AFTEAT et
= ¥ Vinoba Bhave | Te-tET 9
4 % KM Munshi | @ 70 gt

Question Number : 6 Question Id : 3354725436 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which is the second largest river basin in the country? | O # GERT Hedl srET 747 G101 F19 &1 57

Options:

1. ¥ The Godavari Easin | TEmEe g
2. % The Ganga Basin | T gimT

3. % The Narmada Easin | SHaT g0
4. % The Cauvery Basin | #Terr gmif

Question Number : 7 Question Id : 3354725437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following programme is a flagship of rural employment programme in India? | Fgda s ar
FTAFH AT § TTHIT T FIAR F 00T 57

Options:

1. % PMAGY | HigAT=ars
2. ® AMRUT | amd

3. % HRIDAY | g2

4. % MGMNREGA | HHCT

Question Number : 8 Question Id : 3354725438 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Indian Air Force Day’ is celebrated on ______________ of every year. | AN 14 o &7 a9, aa® a9
T HATHT AT &1

Options:

1. % Bth October | 8 S/ga

2. % Gth October | 9 S/t
3. % 10th Cctober | 10 SFgaY

4. % 11th Cctober | 11 SFgaY

Question Number : 9 Question Id : 3354725439 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which Article of the Constitution of India deals with the Fundamental Duties? | WIT & Sl @7 &1 §7 Sfeds
T el el o Helled 57

Options:

1. % Article 32 | affedg 32

2 % Article 50 | arfedg S0

3. % Article 41 | arfedg 41

4 ¥ Article 51 4 | AEEE 510

Question Number : 10 Question Id : 3354725440 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
Wwhich Indian player won the international cricketer of the Year Award at the CEAT Cricket Ratin

(CCR)
International Awards 20177 | Hie T (e [@ieiem) | [Wewr 2017 ﬁﬁrﬂﬂnﬁaﬁa@ﬁa&%aﬁﬁﬂ
Tt T Qe 17

Options:

1. ® virat Kohli | TR ®igaT

2. ¥ Ravichandran Ashwin | Tidea e
% % Ravindra Jadeja | Tidw F2=7

4. % Rohit Sharma | 1T amf

Question Number : 11 Question Id : 3354725441 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
which of the following is NOT an All India Service? | FFaicET § & #1916 O 149 927 T51 57

Options:

1. ® Indian Police Service | WX T Iic 4T

2 % Indian Forest Service | A4 o9 daT

3. % Indian Administrative Service | ARG & a7
4. ¥ Indian Foreign Service | awd = e gar

Question Number : 12 Question Id : 3354725442 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many states in India have coastlines? | 9RT & a4 (=4l § Jei@r &7

Options:
1. % 10
2. ¥ g
3. %3
4 ® 7

Question Number : 13 Question Id : 3354725443 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Who is known as the ‘Father of Indian Cinema’? | “IWd 19 9407 & F-@ & =7 # 5 T4 A7 57

Options:

1. % v Shantaram | =7 aERH

2 % Prithvi Raj Kapoor | Qe &

= ¢ Dadasaheb Phalke | S12T A5 BTdF
4. % Satyajit Ray | Scdtag o

Question Number : 14 Question Id : 3354725444 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

As per legend, the Bandhavgarh Fort is related to which pair of brothers? | WRTiUE wemsif o S, STHeg e
TorT =t T AT HaTid 57

Options:
1. % Ram-Lakshmarn | 717 @5A
2. % Krishna-Balram | Fr-=w= s

= % Ravan-Yibhishana | Tam—Tasdieor
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4. % Bharat-Shatrughna | 9¥d- g9

Question Number : 15 Question Id : 3354725445 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Narme the king who constructed the Jama Masjid in Sehore. | 39 T #7 AH 910 - Gig § ST Aleag, a=aTs 17

Options:

1. ¥ Mughisuddin Shah | gigEH ag
2. % Allauddin Khilji | S@Es = et
Z. % Ehopal Nawalb | S0 T

4 % aAlkbhar | e

Question Number : 16 Question Id : 3354725446 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which is the most prorminent Buddhist religious site in Raisen? | TRIE H Hed TGATT sy eTHE WO 1 a1 87

Options:

1. % Ashapuri | ST
2. ¥ Sanchi | TE=T

Z. % Bhimbetka | HiAdzar

4. ® Delawadi | SAEET

Question Number : 17 Question Id : 3354725447 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Pisanhari ki Madhiya is related to which onie of the following religious cormrmunity? | TRTTRTEr T ATGT e #
o o U enihw SgET § Tared 57

Options:

1. ¥ Jains | 99

2 % Buddhists | T

3. % Muslims | JEAAH
4 % Sikhs | e

Question Number : 18 Question Id : 3354725448 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where is the birthplace of Baiju Bawra? | o< STawT & -7 ST 51 57
Options:

1. % Guna | 7T

2. % Ashoknagar | ST

3. % Agar Malwa | ST HTedl

4. % Chanderi | @il

Question Number : 19 Question Id : 3354725449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
II.'l Ehopal, the naticonal level institution for fine arts is situated at

| AT §, Wl el T e e

Options:
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1. % Manav Sangrahalava | A A0S
2. % Hindi Ehawan | Baf ¥a=

% % Manas Ehawan | A9 Ha

4 % Bharat Bhawan | 8T 94

Question Number : 20 Question Id : 3354725450 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Gitanjali is a collection of poems by _______________ i 3 1 ERT T T widaTet 1 Uw JuE g
Options:

1. % Rabindranath Tagore | TawmAwr a7

2. % Taslima Nasrin | T TE0=

3. % sunil Gangopadhyay | e T

4. % Bankim Chandra Chatterjee | A =g =2l

eneral Maths and General Aptitude

Section Id : 335472134

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472134
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354725451 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If m+25=4A and m-25=e, then what is the relation between Aand ® / T w+25=A Ud m-25=0e.

Od AUd e & I ol HaeT §?
Options:

15+ e=
L % 2ote=4A
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Question Number : 22 Question Id : 3354725452 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

& number m when multiplied by 12 gives the 4 digit number 2042, What is A7 | T 947 m el 12 & 07 &7 AT
AT 4 T w2042 ST A FATEY

Options:
1.¥5

2 ® 7
3.%9
4. % 1

Question Number : 23 Question Id : 3354725453 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 7x* — 6x* + 8x? — 20x — 300 is divided by x + 2, then the remainder is: JaAfE Txt—6xF + 8x2 -

20x - 300 & x+2 ¥ Taarfara T Se, af 99we gam:

Options:
1. # B3

2 ¢ -63
3 ® _244
4 % 212

Question Number : 24 Question Id : 3354725454 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the zero of the polynomial p(x) = 3x* — 17 fagqa p(x)=3x*—1 & YT T

27

Options:

1
o B

1 V3

Question Number : 25 Question Id : 3354725455 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
V3 *yl2=?

Options:
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1. % 36

6/4'10
3

36/410

Question Number : 26 Question Id : 3354725456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the square root of 10897 | 1089 & a7y 47 27

Options:
1. % 327
2. ¥ 33
=% 81
4 % 27

Question Number : 27 Question Id : 3354725457 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Find the average. | 9a FHETiam

28, 68, 32, 36, 21
Options:
1. % 35
2. % 36
3. ¥ 37
4 % 38

Question Number : 28 Question Id : 3354725458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Double the difference of the numerator from the denominator of the rational number 297 (316 is: | TET =47

297|316 o §CH S o STd¢ B g1 F
Options:

1. % -19

2. % 19

3. % -38

4. v 38

Question Number : 29 Question Id : 3354725459 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A and B cormplete 3 work in 138 days, Band Cin 24 days and C and 4 in 36 days. Who 15 the slowest armong A,
EandC? | AMNETF ad @l 18 e H B iR C 24 Teaf g C v & 26 ﬁﬁ‘{ﬂgfﬁﬁ"%ﬁ A, B, R C ﬁ@fﬁaﬂ'ﬂﬂ%?%?
Options:

1.¥C
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2. % B
384
4. % Cannot be determined | i T8t o = g

Question Number : 30 Question Id : 3354725460 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The age of Rama is twelve times that of her son Sharon. If age of Sharon is 2 vears, then what is the age of

Rarna? | 110 T 3 J9F ¢ SR ST A &1 aRg 1T 31 i S0 &1 39 3 99 &, I1 TF & 39 F27 87
Options:
1. % 15

2. % 45
3. % 20
4. ¥ 38

Question Number : 31 Question Id : 3354725461 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number in each box is the product of the numbers in the two boxes above which overlap

with the box. The sum of the numbers in the empty boxes is /9 [3ed # &A1 3o
ar fBeal i gEmnil &1 uEne § o F 39 FEe B w wfdera & B
wreit Bedl i TwaEt & deme 2

] 3 ‘
30
G600
Options:
1. % 20
= %4
3.9 24
4. % 30

Question Number : 32 Question Id : 3354725462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If 12 cows eat 756 kg of grass in 7 days, how much grass will be eaten by 15 cows in 10 days? | 9% 12 T 7
feat #f 756 et e & ar 10 feat # 15 1t gneT T 1T ATIT?

Options:

1. % 1500 kg | 1500 Tramm
2. % 1200 kg | 1200 Tramm
3 ¥ 1350 kg | 1350 frammm

4 % 1400 kg | 1400 FFamm
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Question Number : 33 Question Id : 3354725463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The surn of the present ages of Abhi and his son is 50 years. Five years ago, Abhi's age was seven times the

?ﬁe of his son. After S years, Abhi's age will be: | ST oI IE% T &1 o AT AT F1 JMEA S0 79 21 0= a9 g, 319
ST I 3 T &A1 1 | AT 2 S o e, S1iy @ S g

Options:

1. % 20 vears | 30 a9

2. % 40 vears | 40 79

= ¥ 45 vears | 45 99

4. % g0 vears | 60 T4

Question Number : 34 Question Id : 3354725464 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The area of triangle XYZ is 24 sq. cm. A, B are the midpoints of the sides XY and XZ
respectivelv. Further XY = X7 and C is the midpoint of YZ. Then the area of the shaded region

is: / TIRIOT XYZ &7 a¥her 24 @31 JAT §1 A, B %A Ho3il XY 3R XZ & A=
faeg &1 5@ IfaRad XY =XZ3IR YZ & A7 f&eg C §1 ar ooiicd aiF &
GEET G X

Options:
1.¥3
Z % B
3. % 18
4 % 12

Question Number : 35 Question Id : 3354725465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number which is neither prime nor composite is _______ [ o g TET AL T T ST A T 5 9 8

Options:
1.% 2
2 %3
3. ¥ 1
4 % 4

Question Number : 36 Question Id : 3354725466 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If 36 +2x° — 4x* — 7% + 9x? — 8x — 19 is divided by x + 1, the remainder is / ITe, =& +2x° — 4x* —

7x2 +9x2 — 8x — 19&T x + 1 4 fawforg frar o, ar duha 2l

Options:
1. % 139
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2. ¥ 0
3% -13
4 % 10

Question Number : 37 Question Id : 3354725467 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Add: 2+ 03+ 003+ 0.003 [ 9 i%, T3+ 0.3+ 0.03+ 0.003

Options:

1. % 293
2. % 049

3. ¥ 3333
4 % (3333

Question Number : 38 Question Id : 3354725468 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is the probahbility of getting a red ball when a ball is picked up from a bag containing 7 red balls and &
blueballs?j?mﬁtaﬂrs:ﬁﬁﬁgﬁmﬁwéﬁﬁwwﬁtﬁmﬁﬁ &I UF AT S F T O feRaHT 57

Options:
1. % 51z
2. ¥ 71z
3% 112
4 % 117

Question Number : 39 Question Id : 3354725469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

If one fourth of my aEgFi:r is equal to five times of my son's age. My son's age is 2 yrs. What is my age? | Iig 8T
ST 7T ek T1Te ¢ U3 31 S o 5 T & aTe g1 HY O ol (1 2 o 31 el 31 47 57

Options:
1.9 40 vyrs
2. % 42 yrs
3. % ZRyrs
4. % 36 yrs

[ 40 T
| 42 g
| 35 o
| 36 T

Question Number : 40 Question Id : 3354725470 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If on subtracting 28 from a nurmber, the remainder is one-third of the number, then what is 50% of the

number? | A TEGTH 28 T W W, ST TEaT &1 UF [dEle el 51dT 5, a1 94T @1 S0% F47 57
Options:
1. % 23
o % 24
3. v 21
4 % 35
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General Hindi

Section Id : 335472135

Section Number : 3

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 335472135
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354725471 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TeET & T a7 -
Options:
1. %@
2. %9
3. %z
4 ¥

Question Number : 42 Question Id : 3354725472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TOE AT, W _____________ G EETR
Options:

1. % e
2 ® wwag
3 %37
4 ¥ T3

Question Number : 43 Question Id : 3354725473 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
I+ T+ T+ AT+ TAM FTHA 5 -

Options:

1. % Jgae
= ¥ IO
3. % gErAE
4, ® FEIAe

Question Number : 44 Question Id : 3354725474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

AqUIT g H o W &1 a1 & -
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Options:
1. % ficg oo wa

2 ® AT Haet
= ¥ T o T gadt
4. % gumr et

Question Number : 45 Question Id : 3354725475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Tiheer B < T AP © O 9 AdT o)’ 59 aipd § IR 0 ® 1 a9y
Options:

1. ¥ o1

2 % @r

z %

4 % 3

Question Number : 46 Question Id : 3354725476 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘AT T U AT T # F w | E?

Options:

1. % 3
2 % agda
3. ¥ g
4. ® T

Question Number : 47 Question Id : 3354725477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

o e H AT A 51 F W U e PR d g @ ar e
Options:

1. % g

2 T

3. % e

4, ¥ Tt

Question Number : 48 Question Id : 3354725478 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Ty wTEE e e d g et aree
Options:

1. % gd+ 33

> ¥ Eg+ g

3 % ZaT+Eg

4. % TT+ AT

Question Number : 49 Question Id : 3354725479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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TR w A Heeg P A e e ar gy

Options:

1. % dm+amFw

Z ¥ AW

3. % ang+E

4, ® JO+EN

Question Number : 50 Question Id : 3354725480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“FE T AN Jeg FE A T BT ATE?
Options:

1. % aridgie

o % amuge

3 ¥ gaEr

4 * gm

Question Number : 51 Question Id : 3354725481 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘T AT | T deg TR H A @ Y

Options:
1. 9 5wy
2 % ay
3 % Ty
4. % JUgW

Question Number : 52 Question Id : 3354725482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Y g H T T A e a7
Options:

1. % Jcqey q9u

2 % fmrEnE

3. ¥ TR T

4. % ity gug

Question Number : 53 Question Id : 3354725483 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘W A EAT G F apf g A e A ge
Options:

1. % T AT

o> o ST g

3. % eferr o

4, % FErdt A

Question Number : 54 Question Id : 3354725484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0

THT B G &0 WG H T ETATE?
Options:

1. % 7

2 o

3 %ot

4 % T

Question Number : 55 Question Id : 3354725485 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwﬁwmwﬁqzﬁas‘rwm
TLE AHFAT TFAT 4T, HTAT &01 A 720 g2
z—rrtrﬁﬁfﬁﬁﬁﬁﬁaﬁ:rmm%?

Options:

1. % deaea
2. % eI
. ¥ de T

4 % i

Question Number : 56 Question Id : 3354725486 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

"SI — el o 1T, Wik STTEem,
T T S S, T O S )

H I AT STw R 5 Tof fomee g7
Options:

1. ¥ AT SFFR

2. % wE aAeR

3. % 47 adw

4, % JUAT SFAFR

Question Number : 57 Question Id : 3354725487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
TSR deg, H I |7 GHE &7

Options:

1. % Jcqey q9u

o ® Zg aae

3. v TR AT
4. % ity gug

Question Number : 58 Question Id : 3354725488 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
oo # &F Tt ot # & arfderaifes s & IgTEe a9Tem

Options:

1. % o9 aRET TivadT ey dig
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2. ® ST et S O
SE UaT § Zal (BT JRTGE 39T AT

T % gieoT e Ty 9t
A5dT & o T =id - g

4 & e | T U T St
0T - =0 TR oK 9@ aTiAS

Question Number : 59 Question Id : 3354725489 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T U T & 0 Sed o U 51 T 0T 31 97 31 & arfér avef Teerd & -
Options:

1. v

2. % IHE

2 % fdayraAr

4 % gepite

Question Number : 60 Question Id : 3354725490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

ST H g T aq
Options:
1. % i
2 %o
3w ﬁ‘cﬁj
4 arfa
Fural Econorry and Panchavati Eaj
Section Id : 335472136
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 335472136
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354725491 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Rabi cropping season in India is from ______ .| IRT H T&iT &l B & HEA GE

Options:

1. % July to October | w18 & STFgat
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2. ¥ October to March | aTFeR § A
% % May to August | HE & SATET
4. % Noverrber to April | TR & S

Question Number : 62 Question Id : 3354725492 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the best quality wheat of Madhya Pradesh known as? | R W& T Hed STIET 0T are T @i 491 57
Options:

1. % Eread wheat | 95 51T

2 % Annapocrna | YO
3. ¥ Sharbati | =T

4. % Durum | S0

Question Number : 63 Question Id : 3354725493 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Masimum production of Sovabean in Madhya Pradesh is in which region? | #ea nes & ety 83 # afdway
AT T FedTa BT &

Options:

1. ¥ Bundelkhand | §emas
2. % Baghelkhand | Teegs
= % Malwa | Hiaar

4. % Ehind | ¥z

Question Number : 64 Question Id : 3354725494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which among the following states is the largest producer of coffee in the country as of 20167 | @ 2016 &
T 0¥ ST | H & B9 97 7= HTET B Ged J27 IeHSF 27

Options:
1. ¥ Karnataka | #ic®
= % Kerala | e

3. % andhra Pradesh | ST

4 % Tamil Nadu | TE#Z

Question Number : 65 Question Id : 3354725495 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Deendayal Upadhyay Gramin Kaushalya Yojana relates to skill developrment of © | SHEaTe JUTE@T TTHIT 1w
T Fare T & T &

Options:

1. ¥ Exclusively SC/ST merrbers | Terdhy &0 & Uedl| e T dgeat
2. % Women only | Faa ATgaATT

3. % Students only | #ad gt

4.« Rural youth | TTHIT Famert

Note: For thisquestion, discrepancy isfound in question/answer. So,this question isignored for all candidates.
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Question Number : 66 Question Id : 3354725496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Village Panchayath is organized under which article of the Constitution of India? | YT & |iereT & e srfeas &
TTH U=Tad & diad AT 57

Options:

1. % Article 37 | arfdg 37
2 % Article 38 | arjeig 38
3 % Article 39 | aredg 39

I
!
I
4 ¢ Article 40 | agedg 40

Question Number : 67 Question Id : 3354725497 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Frowvision for 'Organisation of Yillage F'ELIﬂChEL‘j.FEltS' 15 contained under

“TTH U1 o STa o ToT ATierenT 9Ra & didem #
Options:

1. ¢ Directive Principles of State Policy | == Aiifd @ T2t Fgrat
2 % Fundarmental Rights | g7 SRl

% % appendices | qiefEE

4 % Sixth Schedule | T8T SreEl

in the Constitution of India. |

Question Number : 68 Question Id : 3354725498 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The governrment of India announced the first ever National Agricultural Policy in the year

CL: S H Ot T e AT e

Options:
1. % 1989

2. % 1991
3. % 2015
4. % 2000

Question Number : 69 Question Id : 3354725499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In India, The Coffee Act was enacted in: | TRT §, F1HT T80 o artEr=raieg e T em

Options:

1. ¥ 1942
= % 1947
3. % 19586

4. % 1930

Question Number : 70 Question Id : 3354725500 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

According to the Food and ﬁ.grit:ultulre Organization Eﬁ@]{ of the United Nations, India was house to ________
of the world's buffaloes in 2008. | HIF TTF & G2l 1T FIY G5 (TS & qaTes, ARG 2008 H giear & a9t @1

Options:
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1. % 30.3%
2 ¥ 5E.7%
3 % 50.2%
4 ® 70.7%

Question Number : 71 Question Id : 3354725501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following cormmittees was not related to the Panchavati Raj Institutions? | T=Ta T T6 et &

oot & & o9 o aftte arahga 981 ot

Options:

1. ¥ Balwant rai Mehta Committes | Sedd 119 HgdT @G
2. % Aisholk Mehta Cormrmittes | ST AEaT AiHTT

3. % L. M. Singhvi Cormrnittes | T, 0 et @i

4. ¥ Justice Aharmadi Cormmittee | T A THTT

Question Number : 72 Question Id : 3354725502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which was the first state to implement the Panchayati Raj Systermn in post-independent India? | Ta 9T & @15
UITETd T {1 WOTTEAT ST A1) et STl Ugell A i 67 217

Options:

1. % Gujarat | ToRT

= #® Kerala | e

= % Maharashtra | A5RTE
4. ¥ Rajasthan | T=eam

Question Number : 73 Question Id : 3354725503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the objective of the MGNREGA ? | A= %1 J5497 F47 57

Options:
1. ® Provide job in offices | wRiaa! # T Ag = #9047
2. % Provide permanent job in panchayats | T=Taal # Tt T TZe wer

3 Providin]%gt least 100 da%s of guaranteed wage employment in a financial year to every household |

el wivaTe o Toiy fereftar ond f @ | A 100 TEAT & TRE g Ag el T W e
4. ® Give unemployment allowance | @A 96T T #eAT

Question Number : 74 Question Id : 3354725504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which of the following is NOT a function of Madhya Pradesh Medicinal Flant Mission? | e # & T geg
e ar afiwefiar oter e &7 @l 5T 87

Options:

1. ® Providing grant on cultivation of medicinal plants | sfiweftr drert @ =4 & B0 arge@ AT
2. ¢ Branding and selling medicinal plant produces | ey dref & Foaes &1 /2 o &
Z. % Establishing nurseries of medicinal plants | sfiwefier drerf &1 7= daw @

4. % Conducting workshops for growing medicinal plants | eweier qrert & S41 & 70 Sl &7 e T
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Question Number : 75 Question Id : 3354725505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The main objective of “Mukhya Mantri Gram Sadak Yojana” of Madhya Pradeshisto ________ | WA TS
‘T WAl UTH HZ o AT T g0 894

Options:

1. ¥ Construct roads in general category villages having less than 500 population | S00 & § &H =&l GTH
AT AT & Tt H T=@ ! @ A

2. % Setup industries | FET ST FLAT
3. % Bring tribals to mainstrearn | SR Al ® §ET 9RTH 7=

4 % Establish educational institutions | ST ST FIT0T F 4T

Question Number : 76 Question Id : 3354725506 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

The Union budget 2017-18 proposad the setting up of dairy processing and infrastructure developrnent fund
with a corpusof ________ over 3 years? | dgir a9e 2017-18 H S0 U ofR Tt s @ S 2 3 ol
¥ T wig & w1 TATer @1 weaTiae o ma

Options:

1. % 5000 crores
= % 8000 Crores
3. % 7000 crores
4. % 2000 crores

SO00 TS
G000 TS
7000 FE

/
!
/
| 000 T

Question Number : 77 Question Id : 3354725507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of the following is the first state to launch a ‘agro-solar policy’ to encourage the farmers to utilize solar

energy?%j?ﬁﬁﬁﬁaﬁﬁaﬁ:rmu@mm%mﬁmﬁaﬁ FAT T U T oF WiedT5— o UF 'FH-aw S & ag e
TI=IT -

Options:

1. ¥ Madhya Pradesh | T 0
2. % Tamil Nadu | THE&E

% % West Bengal | TRH @A

4 % Gujarat | T=R1d

Question Number : 78 Question Id : 3354725508 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Wwhich of the fCIllDf.-'-.?'iﬂg 15 a Central Scherne 1o moc:}ernize food processing and develop AZro-Processing

Clusters? | Tl WEEHIT o AT 0T 2 JHT-TE T Faeey mﬁ“ﬁﬂ%&rs——lﬁﬁaﬁ:ﬁcﬁﬁﬁaﬁm%’?
Options:

1. % SAHAYOG | §5am

2 ¥ SAMPADA | AT

% ® SAHAKAR | A%

4. ® SAMYOG | G

Question Number : 79 Question Id : 3354725509 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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What is the special prograrmme for Jarmrm & Kashmir under MNational Eural Livelihood Mission? | TP T
ST TerRT THae & AR S a3 Ty Terd srefepmr iy AT 87

Options:

1. ¢ Urmnrneed | IrTE
2. % Acha | T

= ® Umang | 30T

4 % Jannat | J9d

Question Number : 80 Question Id : 3354725510 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Price stabilization fund was established by the Government of India in 2014-15 to regulate the price volatility

of cormrmodities like _______ | e TR T Ry SR gRr 2014-15 9 _______ AT TS & hiAg o STienar
o ATt @ & B it & e o
Options:

1. % Cotton | @O

2. % Sugarcane & Wheat | T &0 g

3. ¥ Cnion & Potatoes | T ST 31T

4. % None of the above | IWw A T FE A1

Cormputer Knowledge

Section Id : 335472137

Section Number : 5

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 335472137
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354725511 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does CC in e-rmail stand for? | $-Aa # CC Torar TR wger giaT 27

Options:

1. ® Cormmon Copy | HTH- HT0T
2. ¥ Carbon Copy | T @l
3. % Cost Copy | ®IH ®Hl

4 ® Carbon Cost | WTET BET

Question Number : 82 Question Id : 3354725512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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WWW stands for: | wwnw FT T ET S
Options:

1. % world Word Web | I o2 ol

2. ¥ World Wide Web | gdg a158 od

3. % World Wide Webinar | rg aB2 dfeam R

4. % world wide Word | 972 d158 98

Question Number : 83 Question Id : 3354725513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is a firewall? | STERETA FT 57
Options:

1. ® 4 systern that scans and removes viruses from a cormputer | 7% REed AT T & JI0d B G- ST 5 8
T T

2 ¥ A systern that prevents unauthorised access to a private network | a8 EEeH =11 T4 Jeaeh T sHegd
UeFed gzm%]

3. % & systern that allows users to make secure online money transfer | =g Tged S weiwd st ®1 GEET T=emg-
HAT TTHET He Tl GIerT 2ar gl

3.; gﬁs%stem in which rrltiple computers are connected to one another | =7 Foged FaH stHw TR THF-ga0

Question Number : 84 Question Id : 3354725514 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Wwhat is a “systern hang*? | “Feeq §7° F478?

Options:

1. ® The systemn is infected by virus | HeH, T2 ¥ THHT 2

2 ¢ The system is unresponsive to keyboard inputs | T\en, #1239 & B0 argawardr 21
3. % The system is shutdown | TREH, TRe=29 8

4 % The systemn is on sleep mode | FREH FHT G2 T 2

Question Number : 85 Question Id : 3354725515 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which shortcut kFe%r is used to apply or remove bold formatting in MS Excel? | THIE UFEd H, FI6g BT 1] &
AT g F 1o 0 A e gl T SHA AT TR AT 87

Options:

1. % Cirl + A
2. ¥ Cirl + B
3 % Cirl+ C

4 % Ctrl +D

Question Number : 86 Question Id : 3354725516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhat is the purpose of ‘Compare’ option in MS Word 20077 | THIE I8 2007 H ‘ST T %7 797 J549 57

Options:

1. ® It cormnpares style between selected texts in the docurnent | 7% SEEHE ¥ S6d0E SFHT & oiid €256l @l Lol
T ]

2. ® It compares two paragraphs in the docurmnent | 9% SThgHe | of TUE T Jo-1 #aT gl
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3. ¥ [t compares two word AoCuments | 5 37 92 STgaie & o1 BT ol
4 % It compares a word docurnent with a PDF file | o GEIUE W15 & @RI T2 STg<ie & a1 &l 2]

Question Number : 87 Question Id : 3354725517 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following is present in a browser window? | UF #aa7 9= H 98 # & 747 auieT &7

Options:

1. % Home button | 510 @&
2. % Page Layout | U #leae
3. % Font properties | HTe 0T
4, % Styles | TITEA

Question Number : 88 Question Id : 3354725518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

On which of the following output devices is soft copy often displayed? | 5H & o smaeqe fzemss ot . |l
CAUIR AR R CRR

Options:

1. % Monitor | AT

2 % Scanner | gFT

3. % Printer | filex

4. % Key Eoard | #l-92

Question Number : 89 Question Id : 3354725519 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following alignment is applied to the below text? / == fgu a7 gave & A=

# { SleT |1 vesaAe o9 fdhar mar g2

[Type a quote from the document or the
summary of an interesting point. You can
position the text box anywhere in the
document. Use the Text Box Tools tab to
change the formatting of the pull quote text
box.]

Options:

1. ® Right | T5¢
o ¥ Left | ¥
= ¥ Center | dew

4 % Justified | TEEES

Question Number : 90 Question Id : 3354725520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

wWhich % tgl?e following option is NOT available in MS word? | Tugd a2 | Hir g 77 et ¢ 4, =19 91 ey
ELECEE) :

Ly
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Options:
1. % Font | &
2 % Eold | s
3. ¥ Magic tool | AFw 7o
4. ® Italic | gefo@

Question Number : 91 Question Id : 3354725521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MIC stands for: [ NIC FT 90 #7 &

Options:

1. % Network Interface Card | =7dd So0hg @S

2. % Network Inforrmation Center | Fde BRI HTT
Z. % Nolnternet Card | AT Eet-e @8

4 # Network Internet Card | ATow Soe-T T

Question Number : 92 Question Id : 3354725522 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following mernory is volatile? | 70 # & 219 @ 0O, afesw g1d1 87

Options:
1. ¥ EaM

= ® ROM
= ® PROM
4. ® EPROM

Question Number : 93 Question Id : 3354725523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

‘Shrink One Page' feature is available in which one of the following views in M5-Word 20077 | THIF I 2007
¥, T g | "Shrink One Page” $RER JUA<Y §IAT 87

Options:

1. % Outline view | ATITAEA 99

2 ¥ Print preview | Tz g

3. % Normal view | T 97

4 % Web layout view | =& #6399

Question Number : 94 Question Id : 3354725524 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which comrmand is used to search all the text files in any drive? | el gEa # @4t tgae BTEed D & o &g
FHIE FT IO T AaT 57

Options:

1. % Filel txt
= 9 E gt

3 % gt
4. ® File2 txt
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Question Number : 95 Question Id : 3354725525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the maxirmum data capacity of STP? | STP @ siferdad STeT HHaT FaT 27

Options:

1. % 10mbps

2. ¥ 100 mbps

3. % 1000 mbps
4. % 10,000 mbps

Question Number : 96 Question Id : 3354725526 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
which of the following options is an exarmple of software? | FHT # & F7 GIFTd< & Tk ISR 57

Options:
1. ® Kevboard | #-=ig

2 % CPU | "R
3. ® Joy Stick | ST e
4. ¥ MS Office | TATT T

Question Number : 97 Question Id : 3354725527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What acts as an intermediate between the user and the cornputer? | JAT (SUTMTEG ) TUT FYIET & T SeClE0e
(Ferarege) o & H @1 I B 57

Options:

1. % Printer | et

2 Cperating Systern | AR Reea
3 % MS Office | THIE TR

4. % Plotter [ qAleT

Question Number : 98 Question Id : 3354725528 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What is the function of Ctrl+F6 in MS Excel 20077 | UTATE Ugdd 2007  Ctrl+F6 @7 %7 &1 g1aT 87

Options:

1. % Closes the workbook | SRbg® g #4al gl

2. ¥ Switches to the next workbook | SHTHT S U Tg=iTal 31
2 ® Minimizes the workbook | She® &1 THHTES T 2l

4 % Restores the workbook | T &1 a2 eaT gl

Question Number : 99 Question Id : 3354725529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

________ option removes text from a docurnent and places it on the clipboard. | ______________UFZFIHC A
T B ECIAT & A S [Fomeis oY a1 gl

Options:
1.9 Cut | ¢

= % Format | BHe
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3. % Paste | T[T
4 % Delete | 26l

Question Number : 100 Question 1d : 3354725530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is CAPTCHA? | =T 47 27

Options:
1. ¥ It is the test used before registering into websites to check if the user is hurnan | Ig UF T8 § =1 dedEe

AT & Uge! o ST T g o o JIe § 7 g0

2. % It is the privacy staternent that needs to be read before registering to a website | g U T $I & Faw
demTEe B TS o UEe Ug- @ TS 5l

3. #® It is the ternporary password, when password is forgotten | I U SR UHS B, Fd §T99 UHde 946 A gl
4. % [t is the one time password | 5 TF % &7 TS 2]

29th Decl7 Shift 2



